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(@euademm — alewLGFT6T QBTG 64 LSEHBMNS CHTEIH6ITENS)
(This question-cum answer booklet consists of 64 pages)

sileyenysxeir / Instructions

(Dp&HBMIL  SipfleyengHenet alemTeamlILSTITH6T SHeupmoed Leimn GeuewiBLd)
(Candidates shall comply with the following instructions)

1. elewrewiusmyTser, Salalam — alml$HHT6el CFHTGUL CTHBID 64 LISEHRIBEN6IT
OaTemihelengl 6IadiLmS (PFHevled o mig Osmeiten  Geuswihld. EH6HTGLILT60
JgCahamid Gemmumemliier, o Lengund FHTGlemu GxiTalsh sewismmeniliLemflb
Gamflll QuBBIGHOBTeTen GeuewI(HLD.

Candidates shall first ensure that this question-cum-answer booklet contains
64 pages. In case, if any defect is found in this booklet, they can request for

replacement from the invigilator immediately.

2. @6llleum(H aleTalBEGLD 601 HHENUITS allemL ST BHIISHMBO\FH 601 @)L 1b
RSB (BHeTengl.  alewienILSTITH6T  @6albeuT(h alamalB@Hl  alledl weflds
RBIGBUILIL L B 560 LB  alewLweilldbs Bouemt(pLb. allenL_Wierllcbab
RISHILILL B H5HBE OeualGu eTenSHUD 61(1DSHDHILTHI.

Space has been provided to write the answer for each question. Candidates
have to answer the questions only in the space provided for that questions.

They should not write anything outside the space provided.

3. elewiewiLLSTITHeT  alemibTelar  @alteurr Uflaled  oimleymisaLliu Beltenr
aTewtenfldemauieonen  alamebaehdd WL GEL ol welss GCoudi(Bd. DSBS
WenasWTer  elewicnldbmauieoneal  alamedsEhdE — alenl Wealdhsmed,  @elbleumm
Lfleaflest (wgalevid lenduimet elemienldbemdulled allenl uleMebaLILL L D6l  H6ewTdad60
I(hSHSHIH OBTETEMILL  LOTL LTSI
Candidates should answer as many number of questions as instructed in the
question paper in each section. If more than the required number of
questions are answered, the answers written at the end of each section will

not be taken into account.
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4. @aialem — alowLd CFHTGULI alemébsel SHWOD LOBHBID SRIFE0  aIQeIHKISET60
® oileNiedl. SIMHH Bemideied LmFHev eugaled SHIUUL (heiTenm  GMILHGer
(LPIYEUTEITENI.

In this question-cum-answer booklet, questions are in Tamil and English

versions. In all matters, English version is final.

5. allewienIuSHTITH6T DbHH alem — el d OSTGHUINBHHSH 6lhHH HTEnETULD
HPHFH L HInl_TH).
Candidates should not tear off any leaves from this question-cum-answer
booklet.

6. B5CxHTmey  CUTBIHHAUMT,  DIPBTH  IWSHIUSBHTHAID,  LTenLPUTE06VTLOED
T(BISBHTHAD HNWITS LHICLGTISHET @HIHHLILIL T606M6V.
There is no reservation of marks for neatness of writing and correctness of
spelling in respect of this examination.

7. elewiewILUSTITHET  Hlgdh  augaleore alambseEndhd almLwefld@nd  CuTIpg
shsag  GuwemyGur, ugHloeucmieneCuT  IHEHILTH. ShGeNH  Guwifled
mSBOWITTILILOIL6)LD SIILOHUT606m6L. SI66UTMITE0T 6T B ETHBS)
uglevelldb@oLTgl aleamaseilsd GUBULIL UL BeTen GuUWIT BBID (WHeuflenwiGu
LWSTUGSHS Ceuewt(BLD.

V61T BH61T6D Quu, (&6 LB IN6 GBI UL afle0enev6luIesTen,
‘OIIUBT “OuUmIBT® (paafleeled o, 9, & SlLevdH 6HeD QUI BFL  DILEVSDI
a1&er0 e1dery Gumeiip Gumrgil Guwiteenet LB 61(ps Geuewr(BLD.

Candidates should not write their name, register number while answering
letter type questions. Putting signature in their name is also not permitted.

To answer such questions, the name & address given in the questions alone
should be used.

If no name is given in the questions, they should write the general names
like ABC or XYZ or XXX in “From” and “To” addresses.
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Svg — I
UNIT -1

Uifley — o
SECTION - A

@@Du :

@6lCeur elemalB@b 150 CFTBEEHSHE WETosD allenL wielobasaLb.
Answer not exceeding 150 words each
ealleuT® eleamalB@l UHSH LHLICLIEHISEIT.
Each question carries ten marks.
Qar@aHalIUBeiTen WbH lambsened eTmeuBueid BTG alamHsEnsHE
LG allenLwerflldseud
Answer any four questions out of five questions.
(4 x 10 = 40)

Why was the Charkha chosen as a symbol of nationalism?
Caxrdweunssder Fereors QT el gel CHTHOHHSBLILL L HI?

“The Royal Indian Navy Revolt was seen as an event which marked the
end of the British rule” - Explain

“@hawu  sLBumL  HertdS Uillyed o Fular  (wpyemeud  GBHGLD
BaTSl UTTSSIUL LG — alend @

Write a note on the role of Jungle Satyagraha in Indian Independence.
@b alpHemev BumITLLHFH60 el FHAWMHTHSHHeT LRSI  GHBISHSD
SNl eumTH

Trace the factors which led to a split in the Indian national Congress in
1907. What was its impact on the course of the nationalist movement?
1907860 @bHw Cxdw  smRSFHsd ey  gBUBMSBES  HTTEUOTLOT 60T
&Tenldmens SeuiLBlweb. Cadlweans Qusbsshdlear CUTESHD DiHeT SHTHHLD
61601601 ?

Write a critical note on “Gandhiji’s role in resolving the problems of
communalism and casteism

AGUUTSH LBLID FTHwll LpFFmeasemen SHTILSBEG SThHHuler LmiseL
GNHH alendGs.
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10.

Wifley — o
SECTION - B

GBiuy

1.

iii.

@6lQeuT(h alemalB@ld 250 CFTBHEHDHEG LOSTD allenl WwieildaeaLb.
Answer not exceeding 250 words each.
@6alGeum( aleamalB@Gl LSHmanbd LHILIGILIGTHIS6T
Each question carries fifteen marks.
CamhsalulBeten Wb alambseiled smeuBuaid BTG alaTohHEHHSE
LB allenL wierfldébaseaLb.
Answer any four questions out of five questions.
(4 x 15 = 60)

“The role of the East India Company proved disastrous to the handicraft
industry in India for a number of reasons.” Comment.

“HsdhFw sbCUT BHIHW mBelmarHosTHe0sEndE LGB allgLomet
Guyfiemer gBUBSSHWBI” — SHSBID]EHES

Answer the following questions
LeiTau(haueTauBmISE  allenl wler

a. Council Act 1861
9. daeardled FUL1b 1861

b. Council Act 1892
8. FHaeidled FULID 1892

The 19th century Indian renaissance was the impact of western values -
Discuss

Copassdw  alpulwumseier  STHHCL 199D  HIBEIEIE  Shaul
LRBILTFFSHE alHH LG — aleurd)

What were the circumstances that led Mahatma Gandhi to start the Non-
cooperation Movement? Examine its contribution to India’s struggle for

freedom.
LDSBITSHLOT HMH @ HBIEMLPUITENLD BULISHHNDHSD OBHTL RIS HBSHT6O
GlDBMevE6T  Wmemel? @hHw &SHHIU CUMITLLSHHe0 DSt UmIS6TlenL
SLITUIS.

Write a detailed note on the Peasant Revolts in India.
@pHwuraled aleugruiser QFuls LIl dsel GNlHs alfleurs alendgs

ovg — I
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@@Du :
i.

11.

12.

13.

14.

15.

UNIT - 1I

difley — &
SECTION - A

@6lQeuT(h alemalB@ld 150 CFTBHEHDHEG LOSTD allenl wielldaeaLb.
Answer not exceeding 150 words each
@6l0uT(h alemalB@LD UHH! LOSHIICLICTHIHE.
Each question carries ten marks.
CaThsalul Beten Wb alambseiled smeuBuaid BTG IS EHHE)
LB allenLwerléea|Lb
Answer any four questions out of five questions.
(4 x 10 = 40)

Trace the history of Pride and LGBTQ rights in India
Spduwraied Pride eugeorm wpmid LGBTQ o _fenwser @fes e1(1psis

What are the various steps taken by the Government of India to address

the issues of child trafficking?
SWHMBFHET FLHHML HHBS BHHT GCoBOSTewI(H 6UIHD  HL 6UIQHNBH6I
wimeneu?

What are India’s menstrual challenges? How far menstrual hygiene

management is successful in India
ObhHwnaler wLIHAILTUI FTeUe0H6T 6laien! @hHwmaled OTHAILTUI  SHSTHT]
GoeumerientD 6T6liedeN®)] HMTLD OEUBMIBTIOTS 2 6iT6ng)?

What are the salient features of the National Medical Devices Policy,

20237
Bxpdlw MmO 2 LISTIHIGHT OBTeTens, 2023-@6i FIMBLILIDFBIBET WITene?

Highlight the reason behind Manipur’s widespread unrest?
weniligfled OHTL(HD SHlenTFFuller LlesTememni wimg)?
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16.

17.

18.

19.

20.

Ufley — &
SECTION -B

@@Du

ii.

iii.

@6lCeur eleamalB@h 250 CFTBEEHSHE WHTos0 allenL WielobasaL.
Answer not exceeding 250 words each.
alCleur alamalB@ USHmeanhdl LSHIICILIEETS6IT
Each question carries fifteen marks.
Qar@aHaIU.BeiTen WbH lambseicd eTmeuBueid BI6IG alambsEndHE
LG eallenLweflbasalb.
Answer any four questions out of five questions.
(4 x15=060)

“The idea of Feminist Foreign Policy needs to be tailored to each country’s

specific political needs and backgrounds, making it all the more

important for India to derive its own definition of the concept.”-Discuss.

“Ouewtenii  Geuellwmeyd OFmeiTend eaIGeUTH BT IgeT GMUIILL  SFFluied

Bxremeumsel BMID LIGILORISEDHDHE gBU algeumdSlLL Geuemwi(hd, EbHawIT

SHHHG gBBaUTHl BHOHTETNHMUI MBI HBaUMIDSHFH OFmeien GeouewsiBLD”
alleurg)

When assessing a country’s demographic dividend, we need to look at
not just its size but also its quality. What measures have been taken by the
government to enhance the capacity of our population to be more

productive and employable?

Qb BT W&HHTOGHTmS Feveal HUNGLOUTH, DIHeT SleMenal O (HLO6V6D,
DFHA  HIHOBUD  HHGHHe00ETeTen  GeuawiBD. LDEBTOHTENBUNGET  Hmeneot
wBpib  Caumeveuruilieny  SIFHEfSEs  DIIFTRIGLD 66T [BL6UIQYHMBHBHEN
sibdHSleiens!?

The post-covid healthcare sector in india revealed the vulnerabilities and
gaps in India’s healthcare system but also presented new challenges and

opportunities for the sector - Discuss.

Camall -d@ LUbhosdwl BHabaydsel @hHul SFHTHTY  Heopuled o 66
&MBLIT(HESHEN6I Gleu61T & Q\BITewTITH HSHIL 60T GBS N INY yalwl
FOUTELHMEMUD NS HENGMEUSBHTET QUTUINILHENGMUD UPRISUWISH] - alleuTd)

"Micro-Finance is an anti-poverty vaccine" -Justify
“augimmwl @PsGL SELLF GBI S — Bipeys

What are the qualitative educational initiatives taken by the current
government to raise the standard of education in Tamilnadu?
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SODBTL Q6T  HONGHIHIHMSH o WidHsh SBOUTIHW DJF  6IhHH  eUHLD
(PWBHSH6T Wimeneu?

Sevg — I11

UNIT - III

difley — &
SECTION - A

GSpiLY : 1. eUGeuT(H allenmealB@Lb 150 CETBaEHHS LOBITLD6
allenLWeM&bHa]LD.
Answer not exceeding 150 words each
ii. @ealCeunm elemalB@L USHF LOHICILIETHTISSEIT.
Each question carries ten marks.
iii. Q&ETHSBSLILL(BeiTen clpaTpl alembseied analGuUignId
BOrenih alamebsEndhE WLBL el weldbaeaub
Answer any two questions out of three questions.

(2 x10=20)
21.
a. If half a meter of cloth costs ¥15. Find the cost of 8% meters of the same
cloth.(5m)
o). Sy LT slewiulesr alenew 15 ereflen, 8% 1S Ben(peiten  Glewiulest
alleney elalaI6TR]?
b. At what rate of interest will a sum of money becomes % times in 5
years? (5m)
8. 6P Iy AiHHHeD 5 QUHLBEIGN0 QI OHTmSH %LDLFEIEBH@LD?
22,

a. A man sells two wrist watches at I594 each. On one he gains 10% and

on the other he loses 10%. Find his gain or loss percent on the whole.
(5m)
S O MBIBYIMIEIGET QAIOUTHIMBUD  H.59485@& e(bHeuT  alBMT.
Beieuty  elBmHed  eepled 10%  @evmuapd, wBBHed 10% B (WD
SUHGBEG GHULLS. OTHHHHL DloU(HdHEG GBULL  @OTUD  DI6V6VSI
BLL FHAHD SHTEIRLD.
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Q.

23.

Spioy
1.

11.

1ii.

The population of a city increases each year by 4% of what it had been
at the beginning of each year. If its present population is 6760000, find
its population 2 years ago. (bm)

9. YH BITHHS  1DHHNMOBHTMS @AIOeUT(H WG  OHTL SHHHIH 6L
Bmbsmsd ol 4% HEfEEHBH. DHST FBOUTMSHW 10HB6T  CBHTD
6760000 61&IBT60, 2 SLWIBBEHHEG (WP BIBFHHT LDHH6T CHTenHMUI
BITCWT .

One of the angles of a triangle is 65°. If the difference of the other two
angles is 45°, then find the two angles. (5m)

9.  (p&BaxmemisHGT @ GBsmewid  65°. BB Qm  Comewimiderie
aldHwnad 45° eafled oeualm Comemmhisemen e

The sum of the square of the two consecutive natural number is 421.
Find the number. (5m)

8. Qrewih OHTLTFHwmer Suied eTewidbellen eITHERIB6MET Fnl HHODHTND
421 elelled SDIbHS 6ICMIHENET HTWTIH

Ufley — <y
SECTION - B

@6l0euT(h alemalB@ld 250 CFTBHEHHEG LSBT allenL WieidEeaLb.
Answer not exceeding 250 words each.
@6UGeuT(H alemalB@l UHearbdl HIGLIETHIS6NT
Each question carries fifteen marks.
QamBHaHBLILIL (HeiTer eLPGIT 6o B 61T 60 eTemalBuignIld By6u1(H
alemeaEndb@ LG allenLwefldsaLb.
Answer any two questions out of three questions.
(2 x15=230)

24.  Arul has to make arrangements for the accommodation of 150 persons for

his

family function. For this purpose, he plans to build a tent which is in

the shape of cylinder surmounted by a cone. Each person occupies 4 sq. m
of the space on ground and 40 cu. meter of air to breathe. What should be
the height of the conical part of the tent if the height of cylindrical part is 8

m?

SIHeT  Haig  Gbou  aliptalBg 150 BUTHET SHHIGUSBE @UH Tl TJLD
SIMOSHBTT.  SLMTSHIHET  QILGH o2 Hwel algaleid GuoBuGs  gnlby
aalgld o 6Tengl. @MHAUT SHIGUSBSG 4 .10 Sigliugd uglyp 40 &.15
s1BEId  CHewauILUGHBH. HLMTHHe0 o (Hewenuler o wigib 8 15 eTellen,
FnlDLN6T 2 _WIJID HIT6IHb.
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25. Inaclass of 60 students, 30 opted for NCC, 32 opted for NSS and 24 opted
for both NCC and NSS. If one of these students is selected at random, find
the probability that
i. The student opted for NCC or NSS
ii.  The student opted for NCC but not NSS.

iii. ~ The student has opted NSS but not NCC

iv.  The student opted for exactly one of them

v.  The student has opted neither NCC nor NSS

60 wmewialTEeT 2 6o @b aiGlniev, 30 Gur NCCuleub, 32 Guir NSS-guib
wppid 24 Gur NCC wmpid NSS-eib GaFTamniTeelr. @@ OTeRIUT FLOGUTUILIL
(Wemmuiled GHihOHBHHSILIGHMTT. Si6ui

i. NCC sieve0g1 NSS Gev

ii. NCC uled Bmbg, aemmed NSS -uled &e06e0mined

iii. NSS-860 @mpal, opemmed NCC-uled &e060mD6D

iv. @aBm geamled L B CFihg

V. NCC sevevm1 NSS @yesnigeoid Gaymioed

BBLUSBHTR HBLDSHDH6)HM6NDH SIS

26.

a. P can do a work in the same time in which Q and R together can do it.
P and Q together can do it in 20 days and R can do it in 30 days. If they
start work together and work for 6 days. How many days Q alone can
complete the remaining work? (9m)
9. @0 Baumevenws Q-ayb R-b Gaibg OFud o18% GmrsHdlev P -wimed
Gauiwapgud. P-upb Q-eyib Gaimbal Sibs Gauenevenuwt 20 HIL seflsd GFuig)
Wwipdhs  (ipub Guogd R wi Gib £18% Geauemevenuws 30 mHT &Hefled (s
wpub. amTe Geauemev OGFuIw DLlSH 6 BT &6 GCouenev OFUISH60TT
aailed Q I BID s eTen Calemevenil 61HHmeT BT H6ifled (1pIgdhd  (LPIQULD.

b. X, Y and Z can do a piece of job in 4, 6 and 10 days respectively. If X,Y

and Z work together to complete, then find their separate shares if they
will be paid X 3100 for completing the job. (6m)
o X, Y oppid Z o 0wt g Geuemsvenul (1pedmpBGui 4, 6 oBpid 10
BT &6efed (pgliit. X, Y woBpid Z opdul apaumd @i Cabdl Db
Gauemevenll (IPIYHHTEO, DHMBHTE SATHEHHEG < 3100 auPBIGILGID 6660,
SIUTHET HellSHHaNGWII QUBID LMIGHHM6NTSH  HT6wISH
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